
RELAÇÃO DO AÇO

23xP1 2xP8 2xP19

2xP29 8xP33 P47

11xP55 P60 6xP61

P62 2xP70 P71

P74 P78 P81

2xP92 2xP98 7xS47

9xS92 51xS98

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 362 96 34752

2 5.0 30 30 900

3 5.0 53 91 4823

4 5.0 120 30 3600

5 5.0 20 131 2620

6 5.0 30 25 750

7 5.0 304 81 24624

8 5.0 13 30 390

9 5.0 48 34 1632

10 5.0 24 121 2904

11 5.0 20 111 2220

12 5.0 24 101 2424

CA50 13 8.0 91 142 12922

14 8.0 91 152 13832

15 8.0 510 112 57120

16 8.0 408 132 53856

17 10.0 204 VAR VAR

18 10.0 117 181 21177

19 10.0 108 201 21708

20 12.5 198 VAR VAR

21 12.5 22 VAR VAR

22 12.5 8 VAR VAR

23 16.0 64 VAR VAR

24 20.0 24 VAR VAR

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 8.0 1377.3 597.8

10.0 830.7 563.4

12.5 457.7 485

16.0 137.6 238.9

20.0 54.5 147.8

CA60 5.0 816.4 138.4

PESO TOTAL

(kg)

CA50 2032.9

CA60 138.4

Volume de concreto (C-30) = 33.91 m³

Área de forma = 162.46 m²
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RELAÇÃO DO AÇO

23xP3 P16 P31

P42 P46 P63

2xP87 2xP88 2xP100

3xS31 3xS46 2xS97

26xS100

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 339 81 27459

2 5.0 53 96 5088

3 5.0 13 91 1183

4 5.0 120 34 4080

5 5.0 24 161 3864

6 5.0 20 25 500

CA50 7 8.0 90 162 14580

8 8.0 42 122 5124

9 8.0 156 92 14352

10 8.0 156 102 15912

11 10.0 131 VAR VAR

12 10.0 78 191 14898

13 12.5 24 VAR VAR

14 12.5 4 VAR VAR

15 20.0 36 VAR VAR

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 8.0 499.7 216.9

10.0 407.1 276.1

12.5 55.6 58.9

20.0 81.7 221.7

CA60 5.0 421.7 71.5

PESO TOTAL

(kg)

CA50 773.5

CA60 71.5

Volume de concreto (C-30) = 13.05 m³

Área de forma = 76.06 m²
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